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Sample Paper – 2010
Class – XII
Subject – Mathematics
General Instructions:
1. 
All questions are compulsory.

2. 
The question paper consist of 29 questions divided into three sections A, B and C. Section A   comprises of 10 questions of one mark each, section B comprises of 12 questions of four marks each and section C comprises of 7 questions of six marks each.

3. 
All questions in Section A are to be answered in one word, one sentence or as per the exact requirement of the question.

4. 
There is no overall choice. However, internal choice has been provided in 4 questions of four marks each and 2 questions of six marks each. You have to attempt only one of the alternatives in all such questions.

5.
Use of calculators is not permitted. You may ask for logarithmic tables, if required.
SECTION - A
1.
Find the value of k for which the matrix
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2.
If the points 
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are collinear, show that 
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3.
Prove that 
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4.
If 
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5.
Find the value of 
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6.
Find the value of
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7.
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8.
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9. 
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10.
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SECTION – B

11.
If 
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12.

Find the value of x such that: 
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13.

Using properties of determinant prove that:


[image: image17.wmf]1a11

111

11b1abc1.

abc

111c

+

æö

+=+++

ç÷

èø

+




OR
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14.
Solve: 
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15.
If 
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OR
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16.
If 
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17.
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Solve for x: 
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18.
If 
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19.
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OR
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20.
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21.
Evaluate : 
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SECTION – C

23.
If 
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, find A-1 and use it to solve the system of equations: 
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OR
Find the matrix X such that, 
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25.
Find the product of matrices 
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 and use it for solving equations :  
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26.
Evaluate :  
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27.
Given that 
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Show that:  
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28.

Using integration, find the area of triangle ABC, coordinates of the vertices being 


A(1, 6), B(2, 8), C(3, 4).

OR

Draw a rough sketch of the following region and find its area: 
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29.
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